CooTHOWEHNE CTapblX PYCCKUX

M COBPEMEHHbLIX MEP

JMMHEWHbIE MEPbBI

CaxkeHb = 3 apuwuHa = 2,143 ™

= 7 yToB = 213,4 c™m
ApuwinH = 16 Bepwkos = 71,1 cm

= 28 pgwoiiMoB = 711 MM
Bepwiok 1,75 pgoima = 4,445 cm
oyt = 12 proiimos = 30,48 cm
Awoiim = 10 nnHuin = 2,54 cm
JInHna = 2,54 mm

KBAOPATHbIE MEPbI

JecatmnHa = 2400 kB. caxeHelr = 1,092 ra
KB. caxeHb = 9 kB. apwuH = 0,045 ap
(coToK)
KB. apwumnH = 256 KB. BepLUKOB - 5055 KB. CM
KB. ¢yt = 144 k8. gtorima = 930 KB. CM
JdecatnHa — npamoyronsHMK B 80 caxkeH
ANVHOM 1 30 ca)KeH LUVMPUHON.

MEPbI BECA

bepkosey, =10 nygos = 163,8 kr
Myp = 40 dyHTOB = 16,38 KT
®yHT = 32 nota = 410 1

JloT = 3 30M10THUKa = 12,797 r
30/M10THUK = 96 gonei = 4,266 r
Adona = 4,44 munnurpaMmma
YHuusa = 8 gpaxm = 29,896 r
Adpaxma = 3,737 1

MEPblI BMECTMOCTW

ANA CbINyYnX Ten
UeTBepTb = 2 ocbMUHbI = 209,7 nntpa
OcbMUHa = 4 yeTBepuka = 1049 n
YeTBepuK = 8 rpaHues = 26,21 n
FapHey = 30 yvactenn = 3,28 n
UeTBepuK cofepXunTt 64 cdyHTa (26,24Kr)
UYMCTO BOAbI.

ONnga >KmnpgkocTtei
40 Bepep = 491,6 n
16 6yTbinok = 12,29 n
8 wTtodos = 12,29 n
10 kpy>kek = 12,29 n
4 yeTtBepTn = 12,29 n
WToh = 1,536 1 = 2 6YTbIIKU
YeteepTts = 3,07 n
Kpy>xka = 10 vapok = 1,229 n
ByTbinika = 3 ctakaHa = 0,769 n
KeapTta = 1,14 n
Wkanuk = 2/3 wTtoda = 1,024 n
Begpo cogep>xut 30 cyHTOB (12,3 Kr) 4mc-
TON BOAbI.

Bouka
Beapo



